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[BUS401] The ___________ construct repeats a segment of code as long as a 
conditional test remains true
Iteration

[BUS401] A data file is a named collection of related records normally kept in 
___________storage
External

[BUS401] The drawback of an open loop control __________ is that it is incapable of 
making automatic adjustments.
System

[BUS401] ________________ consists of the buying or selling of products via 
electronic means such as the internet or other electronic services
Electronic commerce

[BUS401] Programs which are often required by man y application programs are 
called____________
Utilities

[BUS401] A filing method in which data records are normally stored in ascending order 
of key field is known as_________________
Sequential file organisation

[BUS401] An event occurs when _____________ takes an action, such as clicking a 
Button, pressing a key, scrolling, or closing a Window.
Users

[BUS401] A typical data processing function will be to locate a student ____________ 
or data from a large file based on matriculation number.
Record

[BUS401] The main job of the ____________ is to follow instructions encoded in 
programs but it does not have the capability to store entire programs or large sets of 
data permanently
CPU

[BUS401] A digital computer represents a _____________ as a sequence of symbols 
drawn from a fixed alphabet.
Datum
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